H & 0l & AHS B Ml A

SA AFY
=S e Pl
Rl FHEZBINEAIS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ralg; 12,261,562 13,887,378 1,625,816
= 4,819,035
[ 576,000
Il 172,500
< 980,442
Al 5,713,585
=N 2&F e 1,744,700 3,502,994 A1,758,294
= 38,000
s 576,000
Il 172,500
= 219,700
Al 738,500
FAHEZ NS AL 1,594,700 3,402,994 A 1,808,294
= 38,000
s 576,000
Il 172,500
= 219,700
Al 588,500
J|EMEI TR (BIEEHIAY) 85,000 112,000 A27,000
= 33,500
Al 51,500
402 2I2FX=01 & 85,000 112,000 A27,000
s 33,500
Al 51,500
02 RIENEASEZ(0IETHR) 85,000 112,000 27,000
O8I FUSATEAS 46,000
[ 14,000
Al 32,000
Os0E HI=HE S EHIA 39,000
= 19,500
Al 19,500
Jl=MEgolme(SEFEE FHIAY) 30,000 75,000 /45,000
401 Al HIZ S OHbI 30,000 75,000 /45,000
01 A28l 30,000 75,000 /45,000
OSdel™ JHl Mg 30,000
s12o] & DHMFIIMG(EX) 345,000 260,000 85,000
Jl 172,500
Al 172,500
402 QI+ X201 H 345,000 260,000 85,000
Jl 172,500
Al 172,500
03 2IZ+RAETAIS I 345,000 260,000 85,000




SA AFY
=S e Pl
Rl FHEFNEAE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONASE JelelReeA (BIYAT DA
=I1) 5,000,000& *69= 345,000
Jl 172,500
Al 172,500
S|YotRA BIETHAAN 150,000 120,000 30,000
== 75,000
Al 75,000
402 2I2E X201 & 150,000 120,000 30,000
[ 75,000
Al 75,000
02 QI X2 AL EE(OIHTHE) 180,000 120,000 30,000
O3|Y5tRA BIETHMALY 150,000
= 75,000
Al 75,000
FHAXA HE(SHE FHAXA HSHA HHEAY) 518,000 638,000 120,000
[ 376,000
= 42,600
Al 99,400
403 MR SHHMSAH=01H 518,000 638,000 A120,000
= 376,000
[ 42,600
Al 99,400
02 SISt =S A AEHI 518,000 638,000 120,000
Ot LA+ FHAX S H20A WA
& 518,000
= 376,000
[ 42,600
Al 99,400
SOIE ZOH =5 HEALS 76,000 49,400 26,600
= 38,000
< 11,400
Al 26,600
402 BIZtAH=01A 76,000 49,400 26,600
= 38,000
=S 11,400
Al 26,600
03 2IZ+2AEAIHHI 76,000 49,400 26,600
OS0E ZOHQIFE IHEAS 76,000
= 38,000
= 11,400
Al 26,600
J=MEIHRH (BRI FHIAY) (HEALY) 105,000 150,000 /45,000
< 31,500




A A
A =) 2F e
Rl FHEZBINEAIS (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 73,500
402 QI X201 A 105,000 150,000 245,000
T 31,500
Al 73,500
02 QIZIXEAMEEE(OIXTHE) 105,000 0 105,000
O==C8IEFHIAIS 105,000
= 31,500
Al 73,500
FOUX A HE(SAl FHUX S MEHA INEZAIY) 285,700 0 285,700
= 200,000
= 25,700
Al 60,000
201 Ler23| 5,000 0 5,000
ax 3,500
T 450
Al 1,050
01 A=R2teld| 5,000 0 5,000
O28 MRAR TAl FHUXS MEHAH Y
AL 5,000
oy 3,500
T 450
Al 1,050
202 0441 2,000 0 2,000
iy 1,400
T 180
Al 420
01 =ZLHOdH] 2,000 0 2,000
OSAIHY XX HAS S 2,000
= 1,400
& 180
Al 420
307 212+01™ 24,000 0 24,000
= 16,800
& 2,160
Al 5,040
02 QIZHBAAIHE R 4,000 0 4,000
O=0lgzr2dst ¥ =Ml X2AY 4,000
= 2,800
& 360
Al 840
05 QIZIRIEr S 20,000 0 20,000
OsEXAHH 2128 & 23| 20,000
= 14,000




SA AFY
=S e Pl
Rl FHEZBINEAIS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,800
Al 4,200
401 AlEHIZ 2 0HbI 254,700 0 254,700
= 178,300
< 22,910
Al 53,490
01 Al&H| 245,700 0 245,700
23 X TA FHAXS 202 Y
A 245,700
= 172,000
[ 22,100
Al 51,600
03 A2 THYI 9,000 0 9,000
O=22 MR Al HAXS S0 N
A 9,000
= 6,300
& 810
Al 1,890
SERR FHUEXH 150,000 100,000 50,000
S NICHZ O REAI & 150,000 100,000 50,000
301 LEtE N = 150,000 100,000 50,000
03 A2 H A0S (XILTHH) 150,000 0 150,000
OZMUE Ol 150,000
SSFHEIXY 907,128 613,470 293,658
= 120,000
Al 787,128
SSTHEHIW 32y 907,128 613,470 293,658
= 120,000
Al 787,128
SSFHHAU sSAIE= 22X 678,508 487,330 191,178
201 er2 3| 1,330 1,330 0
01 AtR2t2|HI 1,330 1,330 0
O=2g=g 1,330
SSFEAE YA B8+
70,0003 +3& 210
ST 2T ARE A
70,0002 %5 | 700
LU= 2HXEARS BHE
70,0002 64 420
308 AHXIHMSO0IA 4,000 4,000
11 S [2S0 e 4 EAS A 4,000 4,000
Ou=H| 4,000
UFNHESIS W=
20,0003 %100 2,000
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SA AFY
M DEFUsAXY
el SSFEEAY S3Xd EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Dexe oE o AROE DR
20,0003 %100 2,000
402 2IZtA=01d 673,178 482,000 191,178
01 QI XHZ AL E (KM THE) 673,178 482,000 191,178
OSSF SSAIE XA 673,178
NASHES SUHESS FO0IA AE A 73,620 76,140 A2,520
501 A= 73,620 76,140 A2,520
01 2Rt I= 73,620 76,140 A2,520
OMASHE LUHESS R0IX XA (
AHISRE3) 73,620
SESFHHIU SSAIEE 22lX3(EX) 155,000 0 155,000
= 120,000
Al 35,000
402 2IZtA=01d 185,000 0 185,000
S 120,000
Al 35,000
02 RIENZASEZ(0IETHR) 155,000 0 155,000
OZsFH ZHIZ22X & FAAE SZH
o XA 50,000
[ 15,000
Al 35,000
OEtWOHIE HHIAIS (IO 0 &) 45,000
= 45,000
OAIZOHIE RTE Wil SAHFLEOO
&) 10,000
= 10,000
OR 20U E Xlot==xtd d2 HIJHE
AlE EXI(F2IF0{04) 50,000
= 50,000
WEE TAIO2 2H 531,802 1,120,928 B89, 126
= 75,000
Al 456,802
sedls & AF2c 515,002 684,128 A169,126
= 75,000
Al 440,002
SZi= I & 2l 104,172 191,320 A\87,148
201 fer= 3| 10,572 10,572 0
01 At 2|l 840 840 0
O=sAFye? 2l d4+d
70,0002 *32]*4&H 840
2 35244l 9,732 9,732 0
Od=x & Z1s g2Xe B85 S 2,323
2= 1,000,000 *2CH 2,000
AHS KA 100,000 ~2CH 200
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SA: AST
M BAS SAD2 =
ol SElsE € A52L EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHNERES 100,000 1CH 100
I B A== 23,0002 1CH 23
OXr&=AlHl 7,409,000 ~1CH 7,409
202 04| 3,600 3,600
01 =LHOLI 3,600 3,600
O=egins g2Fd 3,600
401 Al HIZL 01| 90,000 160,000 A70,000
01 Al&H| 90,000 160,000 70,000
O=2Z ] SSAIE= dHl & 2 70,000
OIt2 ST WM AL
100,000 %2004 2 20,000
JAFAMF A43} 160,830 192,808 A\31,978
201 et 3| 127,130 159,448 A32,318
01 At2t2l] 127,130 169,448 A32,318
Oget=ZH] 20,000
OUZA SHEZAL AR 2
390,500 »2603 101,530
O=g=¢ 5,600
AR FH+Y
70,0003 * 112 *42] 3,080
- UE ASRS(E2XHAY) FAY
70,0003 x4 H 92 2,520
202 04l 32,700 32,700
01 =LHAHI 32,700 32,700
OA= HRFA 26,300
OAU=SA H=EF =4 2,400
Od=s Rl - 22l 88 =4 4,000
405 AHaHE S 1,000 660 340
01 AL =S F = 1,000 660 340
oda 2 1,000,000 «1CH 1,000
ZEDHH AN (221202 FHl & 2tel) 250,000 300,000 250,000
= 75,000
Al 175,000
401 Al HIZ S OHbI 250,000 300,000 50,000
=S 75,000
Al 175,000
01 AlZ8| 250,000 300,000 /50,000
OSEZ HEIHEAMS(ENS) 250,000
[ 75,000
Al 175,000
2HEUE TAIE2 16,800 436,800 420,000
SAITIRE 23 16,800 66,800 250,000
201 er2&| 15,600 15,600 0




A AED
Ha: WHs TAIDY £
el EEQE TAYE

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 15,600 15,600 0
OZmAARE 2Y4Y
70,0002 x 15 %123 12,600
OZAICIARl 2ted A1
50,0003 * 102 22 1,000
OZAILIAR! S2US USHA & 22 2,000
202 04l 1,200 1,200
01 2LHoIH 1,200 1,200
OZAILIA! AR 8 HIX|0r 1,200
I otd & 35 A 3,450,213 3,431,077 19,136
= 316,000
Al 3,134,213
IIRSEX ¥ FA2 3,450,213 3,431,077 19,136
= 316,000
Al 3,134,213
=S X & |X2e 2,660,213 2,640,077 20,136
201 er23| 779,413 709,276 70,137
01 At2teltl 1,800 2,800 1,000
OJt2sS AHEL fo18dl S34|
150,000& * 12 1,800
02 S3=gHl 777,613 706,476 71,137
O&Ys AIe= 57,10024%9,699H 553,813
Osgs dies 30,0002 %6, 2604 187,800
OJt2S Mog [l
180,000 *2002H 36,000
206 M=l 305,800 305,800
01 M=4l 305,800 305,800
ozs E=+8 MM 7 305,800
ANSEZI(2FLE) 149,000 x200K 29,800
- LED & (500 110,000& %2, 1004 231,000
- LED 2L (100W) 150, 0002 +3000H 45,000
401 AlZHIZ 2018 1,575,000 1,625,001 /50,001
01 AlZH| 1,563,584 1,613,764 /50,180
OsEINZS(LED) &IE(300S)
480,000,000& *99. 28% 476,544
OZAIIIZE(LEDS) A1 (1508)
525,000,000 *99.37% 521,693
OJ2(2ehHs |XAlzel
300,000,000 *99. 28% 297,840
OgaAl 22 L08Z wil
100,000,000 <99. 1% 99,100
OZADIZS 288 WXl
35,000,000 *98.92% 34,622
Otz & FHI(2008)
60,000,000& +99. 1% 59,460
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2A:

X XH -
o=

ral=g;
OIUX ™ & 5 e

Rl JIRSEX & |2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJIZS w4 (150S)
75,000,00021+09. 1% 74,325
03 Al & =CHb| 1,416 11,237 179
OsZENHZS(LES) 14 (300S)
480,000, 00021%0. 72% 3,456
OZADIZS(LEDS) &l1H(150S5) 3,307
OJtZ(2eHS R
300,000, 0002440, 72% 2,160
OLAl L2 LEDSIIT LA
100,000,00024+0. % 900
OZAIZS =88 DA
35,000,00024%1.08% 378
OL2II2E FHI(200S)
60,000,00024+0. % 540
OJZES +HB4(150S)
75,000,000210. 9% 675
IIZS #1 2 RAB2I(2XE) 790,000 791,000 A1,000
2 316,000
Al 474,000
T EEST] 790,000 791,000 A1,000
2 316,000
Al 474,000
o1 Alt 790,000 791,000 A1,000
OII2BUHE ADEAHFOAILE 2= 790,000
2 316,000
Al 474,000
ESIER 5,613,919 5,140, 109 473,810
2 4,465,035
< 565,742
Al 583, 142
ESIER 5,613,919 5,140,109 473,810
2 4,465,035
= 565,742
Al 583, 142
ESSIER 5,526,919 4,978,109 548,810
2 4,421,5%
= 552,692
Al 552,692
301 LBHRHI 4,421,5% 4,063,109 368,426
2 3,537,227
= 442,154
Al 442,154
P EIEREESTE)) 4,421,5% 4,063,109 368,426
FAS0(LRSO) 4,421,5%
2 3,537,227




SA AF
LRSI
SCRES (Shol: &2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 442,154
Al 442,154
403 MR HHMSAH=01H 1,105,384 925,000 180,384
= 884,308
< 110,538
Al 110,538
02 SIS0t =S A A 1,105,384 925,000 180,384
FAHE0(=EKRXZ0) 1,105,384
= 884,308
== 110,538
Al 110,538
UM Al EEXA 87,000 162,000 AT75,000
= 43,500
== 13,050
Al 30,450
301 22N = 87,000 162,000 AT75,000
= 43,500
= 13,050
Al 30,450
01 Al E2E A S(FREEMA) 87,000 162,000 A75,000
OFIEAN BtAl SEXE 87,000
= 43,500
= 13,050
Al 30,450
HY2AAH (A=) 13,800 13,800 0
=34 13,800 13,800 0
Jl=3H] 13,800 13,800 0
201 er23 | 6,000 6,000 0
01 At2teltl 6,000 6,000 0
O=2| 6,000
203 HR=4Y] 7,800 7,800 0
03 A= PR FA| 3,000 3,000 0
OAIBFA FR=LY| 3,000
M FA2HHIFII 4,800 4,800 0
ORKNSgERF=AHI 4,800




